Multiplication and division

 https://whiterosemaths.com/wp-content/uploads/2019/SoLs/Primary/Year-2-2018-19-Spring-Term-Block-1-FINAL.pdf
This document is a fantastic resource with some practical questions for your child to engage with. This is aimed at the Year 2 curriculum but white rose maths for Y1 is not always challenging for the more able.
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Alex has 20 sweets and shares them
between 5 friends.

Tommy has 20 sweets and shares them
between 10 friends.

Whose friends will receive the most
sweets?

How do you know?
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Make Equal Groups - Sharing

Notes and Guidance

ied Fluency

Children divide by sharing objects into equal groups using. M Share the 12 cubes equally into the two boxes.
one-to-one correspondence. They need to do this using
concrete manipulatives in different contexts, then move on to Thereare _cubesaltogether. @
pictoria representations. There are _ boxes.

There are _cubes in each box

L
Children will be introduced to the *+ symbol. They will begin
1o see the link between division and multiplication. Can you share the 12 cubes equally into 3 boxes?

B 24 chicren are put nto 4 equal teams.
How many children are in each: ?
Mathematical Talk "~ e

Can you use manipulative to represent the chichen to show how

How many do you have to begin with? youfound your answer?

How many equl groups are you sharing between?

How many are 1 cach goup? A Ron draws this bar model to divide: 20

How do you know that you have shared the objects equally? 20into 4 equel groups .
How doeshs model represenths? [T T

—_ has been shared equally into _ equal groups. Hewrites 20 + 4 =5

T,
(Hi
5 5 5 5
Thave _in each group. ‘What other number sentences could Ron create using his model?
__groupsof _make __
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Jack says,

Ican work out 40 + 2

easily because | know
that 40 s the same as 4
tens.

O]

This is what he does:

wav

40 +2=20

Is it possible to work out 60 + 3 in the
same way?
Prove it.

Is it possible to work out 60 + 47
Whatis different about this calculation?




